A sample of nitrogen gas is collected

over water at 20ºC.The vapor pressure

of water at 20ºC is 18 mmHg.What is

the partial pressure of the nitrogen if

the total pressure is 765 mmHg?

A 18 mmHg

B 747 mmHg _

C 765 mmHg

D 783 mmHg

A gas has a volume of 50.0 cm3 at a

temperature of -73ºC.What volume

would the gas occupy at a temperature

of -123ºC if the pressure stays

constant?

F 3.75 cm3
G 5.0 cm3
H 37.5 cm3 _

J 50.0 cm3
How many moles of CO2 are there in a

50.0 dm3 sample of the gas at a

pressure of 100.0 kPa and a

temperature of 50ºC?

A 1.20 moles

B 1.86 moles _

C 2.0 moles

D 12.0 moles

[image: image1.png]



One way to increase the volume of the

gas in the balloon in the diagram

above is to —

F cool the gas in the balloon only

G increase the temperature of the water _

H push the balloon farther down into the

water bath

J seal the top of the water bath
One of the main assumptions of the

kinetic molecular theory of gases is

that the particles of an ideal gas —

F must be single atoms instead of

molecules

G are in constant motion _

H must be maintained at very high

pressures

J must be highly chemically reactive

A sample of oxygen gas is collected

over water at 22ºC and 98.67 kPa

pressure. If the partial pressure of the

water is 2.67 kPa, the partial pressure

of the oxygen is —

A 93.33 kPa

B 96.00 kPa _

C 98.66 kPa

D 101.33 kPa

The gas with the largest volume at STP

is —

F 10.0 g He _

G 10.0 g Ne

H 10.0 g Ar

J 10.0 g Kr

According to Charles’ law, the volume

of a fixed amount of gas is directly

proportional to —

F isoelectric mixture

G vapor concentration

H barometric pressure

J kelvin temperature

Industrial deep-sea divers must

breathe a mixture of helium and

oxygen to prevent a disorienting

condition known as nitrogen narcosis.  If a diver’s tank is filled with a helium-oxygen mixture to a pressure of 170 atmospheres and the partial  pressure of helium is 110 atmospheres, the partial pressure of the oxygen is —

F 60 atm _

G 110 atm

H 140 atm

J 280 atm

A sample of nitrogen occupies

10.0 liters at 25ºC and 98.7 kPa. What

would be the volume at 20ºC and

102.7 kPa?

A 7.87 L

B 9.45 L _

C 10.2 L

D 10.6 L
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The graph shows the pressure of an

ideal gas as a function of its volume.

According to the graph, increasing the

volume from 100 mL to 150 mL —

F decreases the pressure by 80 kPa _

G decreases the pressure by 160 kPa

H increases the pressure by 80 kPa

J increases the pressure by 160 kPa
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Each balloon was filled with an

identical number of moles of gas.

Which of the following best explains

why balloon B is larger than balloon A?

A The gas in balloon A is under less

pressure.

B The gas in balloon A is warmer.

C The gas in balloon B is under more

pressure.

D The gas in balloon B is warmer.
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A gas cylinder is filled with 4.00 moles of oxygen gas at 300.0 K. The piston is compressed to yield a pressure of 400.0 kPa. What is the volume inside the cylinder?

A 3.19 dm3
B 6.25 dm3
C 24.9 dm3 _

D 31.5 dm3
A sample of hydrogen gas is collected over water at 25ºC. The vapor pressure of water at 25ºC is 23.8 mmHg. If the total pressure is 523.8 mmHg, what is the partial pressure of the hydrogen?

F 23.8 mmHg

G 47.6 mmHg

H 500.0 mmHg _

J 523.8 mmHg

Water molecules have the greatest

kinetic energy in —

A ice at 0ºC

B water at 373 K

C water at 98ºC

D steam at 150ºC
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A gas cylinder with a volume of

3.00 dm3 contains 8.00 moles of oxygen

gas at a temperature of 50.0 K. What is

the pressure inside the cylinder?

F 504 kPa

G 1110 kPa _

H 2220 kPa

J 3320 kPa

At a constant volume, the pressure of a

gas will increase as the temperature

increases. Which of the following

graphs shows that relationship?
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Equal quantities of different liquids

are placed in closed manometers at

20ºC. Which liquid has the highest

vapor pressure?
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A tank contains N2 at 1.0 atm and O2 at

2.0 atm. Helium is added to this tank

until the total pressure is 6.0 atm.

What is the partial pressure of the

helium?

A 4.0 atm

B 3.0 atm _

C 2.0 atm

D 1.0 atm
